
















1 Q

f(x ,y) = sin(x + y) - cos(t)
Find wit . pt

fx = cos(x+ y) + sin(x) = 0 =

fy = cos(x +y) = 0

2 + y
= E + ki

,
K integer

cos(x +y) + S((x) = sin(x) = 0

x = lit
,

l integer

y = E + + - x = E + kπ - l+ = E + (k-1)i

f xx
=

- sin(x +y) + cos(x)

f xy
=- sin(x +y)

fyy = - Sin(x +y)

D= i +y) - sin(x +y) cus(x) - (x+y)

= - sin(x+y)cos(x)

y
= ,,,. - y

= ,...
cos(t) = 1

x = 0
,
2π

,
45....

cos(x)= 1 D = - 1
sin(x+y) = - 1

D = 1

sin(X+y) = 1 Saddle min

x = π
,

3π
, Si

cos(x)=
D =- 1

cos(x) = - 1
D = 1

sin(x+y) =- I saddle sin(x+4)= 1
max


